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(glucose) (fructose) (galactose)

(hexose)

CeH1206+602 - 6C0O2+6H20

CeH1206 — 2C2H50H+2CO2

20~30

50ml



1/ 2
1 2 121 12~15 /
20

=°Brix =X/ +X (X )
10
250ml 10 °Brix
10/2100=X/250 X
10 250+X =100X

X=27.78g
27.78
( )
2
3 250c.c
2
5

30



1 9. 2% . 2%
3 9. 2% 9 %

7 8 % . 8%

10 3.2% 2. 8%
11 2. 6% 2. RP%
12 2. 8% 2. pb%
13 2. 6% 2. pb%
17 2. 4% 2. 4%
18 2.2% 2. P%
19 2.2% 2. pb%
20 2. 8% 2. 8%
21 2.2% 2. 6%

O .

8 %

%

L6 %
7.6%
5.6 %
4 %

2. 6%
2. 2%
2 %

2 %

2. 4%
2. 2%



12 23
13 160
17 203
18 115
19 109
20 20




0o

0o

)

0o

0o

0o

)

0o

0o

9 0 % 0 % 09
10 3 % 0 % 0
11 3 % 2 % 0
12 3 % 3 % 0
13 3 % 3 % 0
17 3 % 3 % 3
18 3 % 3 % 3
19 3% 3 % 3
20 3 % 3 % 3
21 3 % 3 % 3
24 3 % 3 % 3
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CesH120s6

CsH1206+602 - 6C0O2+6H20

CeH1206 — 2C2H50H+2CO2

glucose fructose

galactose hexose
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ClinDH
tF=D
Hﬂ—?-H
H—?—DH
H—?—DH
CH:0H
27.78
J.T.Gerig
Lubert Stryer

p.405~409 1983

()

N Tt“"Cl:f
w—#—mi H—§~ OH
Ho-C—H HO-G—H
H—C—OH HO—C—H
H _(T';_DH H— CI:_GH

CH:0H CH:OH

p.240 ~ 241 1983
() p.261~269 p.275

p36~40 p.238 1995

p.257 ~ 261 1982
p.367~383 1996
p58~67 107 1995
pl~2 p46~63 1995
p.30~34 1989
p.168 ~ 173
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